Peer IQSS®

Installation and Assembly:
Cart/Stand Adapter for Universal Rotaitional Mount

Models: ACC170

-
@
o

AN

Before you begin, make sure all parts shown are included with your product.
Parts may appear slightly different than illustrated.

Parts List

Description Qty. Part#
A adapter plate 1 120-1179
B M10 x 15 mm round socket head screw 4 520-9262
C 6 mm allen wrench 1 560-9716

C

ISSUED: 07-17-08 SHEET #: 120-9051-1
Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.



Attaching Adapter Plate to SR Cart or SS Stand Hook Plate

e Align inner holes of adapter plate (A) to inner holes of hook plate.

From rear of hook plate, attach adapter plate (A) to hook plate using four M10 x 15 mm screws (B) as shown below.
Tighten all fasteners with 6 mm allen wrench (C).

HOOKPLATE \/\

N

2
N\ e

Attach adapter plate (A) to rotational mount using four M10 x 15 mm screws provided with rotational mount
and securely fasten using 6 mm allen wrench (C) as shown below.
NOTE: Reinstall hook plate to cart or stand according to instructions included with cart or stand.

?// M10 x 15 mm screws
¥

ROTATIONAL
MOUNT

20f2 ISSUED: 07-17-08 SHEET #: 120-9051-1

Visit the Peerless Web Site at www.peerlessmounts.com For customer care call 1-800-865-2112 or 708-865-8870.



